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The cereal magnate’s son, who the father called 3 “tree- hugging snag,"” upon taking over operations
was appalled to hear the company may be cheating customers by selling them less cereal than was
printed on the box. He doesn’t care if the weight is more than printed, just not fess. He has 28 boxes
randomly pulled from the line and the weights of the contents tested. If the average weight of the
sample is significantly less at the 5% level, he will stop production and have the machines adjusted.

The boxes advertise 18 oz of cereal. His sample average was 17.6 oz. Use the sames
deviation of 1.2 oz

le standard

Conduct a test at the 5% fevel. Do we stop production?

1. Give a description of the population parameter. p
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4. _Calculate the appropriate test statistic (z or t):
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6. Summarize {reject? Or not):
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Generate a 90% Confidence interval for the population parameter:
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Professor Creel purchases a bag of filberts that states on the package, “no more than 10% shriveled and
bitter.” After eating 40 filberts, he encounters 8, or 20%, that are shriveled, bitter, and completely

inedible. Should he drive through the blowing snow to Price Chopper to return the (uneaten) filberts get
back his hard-earned $3.56. Do a testat the 1% level (.01 level) to be safe. (Price Chopper won't accept
returns based on the weaker 10% or .1 level tests).
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1. Give a description of the population parameter. W=,0t
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2. State the pullhypotheses
a. Null Hypothesis: @ Tt~z
b. Alternative hypothesis: H&f =10
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4. Calculate the appropriate test statistic (z or t): / ms?fpa,ss
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If the test is not rejected at the 99% level, at what level would :t be rejected? ,.-’é_ Wuu/é/ Le W
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Generate a 98% Confidence interval for the population parameter:
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Professor Creel purchases a 24 oz bag of Tropical Extravaganza mixed nuts that states on the package,
“ ” . . . . .y P n o T arm, g
no less than 40% almonds.” After his experience w:tE the filberts, he S
£rom ) 74 e . 2.4 , 3¢
pLRag e nuiia the bag, and finds ¢ @ cashews, #8z brazil nuts, €87 macadamia nuts, and ey of

almonds (ie $.4% @ almonds and X5 owordtaen nuts). Back to Price Chopper? Do a test at the 1% level.
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1. Give a description of the population parameter. 4

The faﬁm % #/Mowes Z/‘o Ml’zﬂf,} M,)»’% }’0\:‘%:’375.

77177106«/6 Ex?fr. /&'W(_ ’aaﬂwfwf'm N = 76
2. State the null hypotheses
a. Null Hypothesis: H ¢ itz 4o

b. Alternative hypothesis: H* 1/4 <. Yo
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4. Calculate the appropriate test statistic (z or t):
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5. Calculate the p-value: 94
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6. Summarize (reject? Or not):
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A skinflint cereal magnate wants to make sure that the cereal hox filling machines are not filling boxes
with more cereal than is advertised on the box. He doesn’t care if the weight is less than printed, just
not mare. He has a 144 hoxes randomly pulled from the line and the weights of the contents tested. If

the average weight of the sample is significantly greater at the 5% level, he will stop production and
have the machines adjusted.

The boxes advertise 18 oz of cereal. His sample average was 18.24 oz with a sample standard deviation

of 1.2 0z Sk g
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Conduct a test at the 5% level. Do we stop production?

1. Give a description of the population parameter.
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2. State the null hypotheses

a. Null Hypothesis: {1 @ tu= {§,0
b. Alternative hypothesis:
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5. Calculate the p-value: Q’WWI/
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6. Summarize (reject? Or not):
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Generate a 90% Confidence interval for the population parameter:
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